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Andorra X X X
Osterreich x x x x x
Belgien X X X X X
Bulgarien X X X X X
Schweiz X X X X X
Tschechien X X X X X
Deutschland X X X X X
Danemark X X X X X
Estland X X X X X
Spanien X X X X X
Finnland X X X X X
Frankreich X X X X X
GroBbritannien X X X X X
Gibraltar X X X X
Griechenland X X X X X

Kroatien X
Ungarn X X X X X
Irland X X X X X

Island X
Italien X X X X X
Lichtenstein X X X X
Litauen X X X X X
Luxemburg X X X X X
Lettland X X X X X
Monacco X X X X
Mazedonien X X X X X
Malta X X X X X
Niederlande X X X X X
Norwegen X X X X b3
Polen X X X X X
Portugal X X X X X

Romdnien X
Russland X X X X X
Schweden X X X X X
Slovenien X X X x x
Slovakei X X X X X
San Marino X X X X
Tiirkei X X X X X

Ukraine X
Vatikanstaat X X X X




